---- GiveWin 2.02 session started at 16:54:43 on Wednesday 17 October 2001 ----

nic3.in7 loaded from C:\Winword\Econometrics\PcGive exercises\nic3.in7

Algebra code for nic3.in7:

DLG = diff(LG,1);

DLWTI = diff(LWTI,1);

nic3.in7 saved to C:\Winword\Econometrics\PcGive exercises\nic5.in7

Ox version 3.00 (Windows) (C) J.A. Doornik, 1994-2001

Ox version 3.00 (Windows) (C) J.A. Doornik, 1994-2001

---- PcGive 10.0b session started at 17:02:55 on 17-10-2001 ----

EQ( 1) Modelling DLCE by OLS (using nic5)

       The estimation sample is: 1970 (1) to 1988 (4)

                  Coefficient  Std.Error  t-value  t-prob Part.R^2

Constant            0.0685770    0.07586    0.904   0.369   0.0119

DLY                  0.280549    0.04872     5.76   0.000   0.3278

DDLY_1               0.153191    0.02845     5.38   0.000   0.2989

DLNW_1               0.141307    0.02762     5.12   0.000   0.2780

LY_1                 0.120052    0.04674     2.57   0.012   0.0884

LNW_1               0.0238132   0.009299     2.56   0.013   0.0880

LCE_1               -0.157044    0.05494    -2.86   0.006   0.1073

DUM                 0.0359084   0.003598     9.98   0.000   0.5942

sigma              0.00703026  RSS             0.00336087408

R^2                  0.765192  F(7,68) =     31.66 [0.000]**

log-likelihood         273.16  DW                       2.07

no. of observations        76  no. of parameters           8

mean(DLCE)         0.00725853  var(DLCE)         0.000188332

1-step (ex post) forecast analysis 1989 (1) to 1990 (4)

Parameter constancy forecast tests:

Forecast  Chi^2(8) =   13.888 [0.0847]  

Chow      F(8,68)  =   1.5444 [0.1584]  

EQ( 2) Modelling DLCE by IVE (using nic5)

       The estimation sample is: 1970 (1) to 1988 (4)

                  Coefficient  Std.Error  t-value  t-prob

DLY            Y     0.345278     0.1717     2.01   0.048

Constant            0.0578493    0.08153    0.710   0.480

DDLY_1               0.157630    0.03095     5.09   0.000

DLNW_1               0.134764    0.03254     4.14   0.000

LY_1                 0.146312    0.08182     1.79   0.078

LNW_1               0.0251694    0.01003     2.51   0.014

LCE_1               -0.184299    0.08885    -2.07   0.042

DUM                 0.0357674   0.003662     9.77   0.000

sigma              0.00712092  RSS             0.00344811001

Reduced form sigma  0.0085634

no. of observations        76  no. of parameters           8

no. endogenous variables    2  no. of instruments         11

mean(DLCE)         0.00725853  var(DLCE)         0.000188332

Additional instruments:

[0] = DLG_1

[1] = DLG_2

[2] = DLWTI_1

[3] = DLWTI_2

Specification test: Chi^2(3) =  0.61993 [0.8919]  

Testing beta = 0:   Chi^2(7) =   187.72 [0.0000]**

1-step (ex post) forecast analysis 1989 (1) to 1990 (4)

Forecast test:    Chi^2(8) =   13.499 [0.0958]

Error autocorrelation coefficients in auxiliary regression:

  Lag Coefficient  Std.Error

    1    -0.16391     0.1745

    2    -0.27167      0.168

    3    -0.12247     0.1529

    4    -0.22505      0.163

    5   -0.041426      0.153

    6      -0.205      0.163

    7    0.099733      0.167

    8   -0.023369     0.1344

RSS = 0.00318354  sigma = 5.30589e-005

Testing for error autocorrelation from lags 1 to 8

 Chi^2(8) =   5.8080 [0.6687]   and F-form F(8,60)  =  0.72599 [0.6679]

EQ( 3) Modelling DLY by OLS (using nic5)

       The estimation sample is: 1970 (1) to 1988 (4)

                  Coefficient  Std.Error  t-value  t-prob Part.R^2

Constant            0.0724574     0.1979    0.366   0.716   0.0021

DDLY_1             -0.0559422    0.06932   -0.807   0.423   0.0099

DLNW_1              0.0858945    0.06778     1.27   0.210   0.0241

LY_1                -0.406955     0.1042    -3.91   0.000   0.1902

LNW_1              -0.0268988    0.02381    -1.13   0.263   0.0193

LCE_1                0.438263     0.1262     3.47   0.001   0.1564

DUM                0.00711597   0.009331    0.763   0.448   0.0089

DLG_1                0.342693     0.1949     1.76   0.083   0.0454

DLG_2                0.174986     0.1968    0.889   0.377   0.0120

DLWTI_1             0.0463693    0.06653    0.697   0.488   0.0074

DLWTI_2            -0.0783501    0.06690    -1.17   0.246   0.0207

sigma               0.0171428  RSS              0.0191018851

R^2                  0.328089  F(10,65) =    3.174 [0.002]**

log-likelihood        207.131  DW                       2.21

no. of observations        76  no. of parameters          11

mean(DLY)          0.00704642  var(DLY)          0.000374068

1-step (ex post) forecast analysis 1989 (1) to 1990 (4)

Parameter constancy forecast tests:

Forecast  Chi^2(8) =   3.3414 [0.9111]  

Chow      F(8,65)  =  0.37432 [0.9305]  

resfit [1970 (1) to 1990 (4)] saved to nic5

EQ( 4) Modelling DLCE by OLS (using nic5)

       The estimation sample is: 1970 (1) to 1988 (4)

                  Coefficient  Std.Error  t-value  t-prob Part.R^2

Constant            0.0685770    0.07586    0.904   0.369   0.0119

DLY                  0.280549    0.04872     5.76   0.000   0.3278

DDLY_1               0.153191    0.02845     5.38   0.000   0.2989

DLNW_1               0.141307    0.02762     5.12   0.000   0.2780

LY_1                 0.120052    0.04674     2.57   0.012   0.0884

LNW_1               0.0238132   0.009299     2.56   0.013   0.0880

LCE_1               -0.157044    0.05494    -2.86   0.006   0.1073

DUM                 0.0359084   0.003598     9.98   0.000   0.5942

sigma              0.00703026  RSS             0.00336087408

R^2                  0.765192  F(7,68) =     31.66 [0.000]**

log-likelihood         273.16  DW                       2.07

no. of observations        76  no. of parameters           8

mean(DLCE)         0.00725853  var(DLCE)         0.000188332

1-step (ex post) forecast analysis 1989 (1) to 1990 (4)

Parameter constancy forecast tests:

Forecast  Chi^2(8) =   13.888 [0.0847]  

Chow      F(8,68)  =   1.5444 [0.1584]  

Omitted variables test: F(1,67) = 0.156915 [0.6933]

Added variables: 

[0] = resfit

​​​​​​​​​​​​​​​​​​​​

An extra bit

EQ( 5) Modelling DLCE by OLS (using nic5)

       The estimation sample is: 1970 (1) to 1988 (4)

                  Coefficient  Std.Error  t-value  t-prob Part.R^2

Constant            0.0578493    0.08099    0.714   0.478   0.0076

DLY                  0.345278     0.1706     2.02   0.047   0.0576

DDLY_1               0.157630    0.03074     5.13   0.000   0.2818

DLNW_1               0.134764    0.03233     4.17   0.000   0.2060

LY_1                 0.146312    0.08129     1.80   0.076   0.0461

LNW_1               0.0251694   0.009964     2.53   0.014   0.0870

LCE_1               -0.184299    0.08826    -2.09   0.041   0.0611

DUM                 0.0357674   0.003638     9.83   0.000   0.5906

resfit             -0.0705548     0.1781   -0.396   0.693   0.0023

sigma              0.00707426  RSS             0.00335302125

R^2                   0.76574  F(8,67) =     27.38 [0.000]**

log-likelihood        273.248  DW                       2.07

no. of observations        76  no. of parameters           9

mean(DLCE)         0.00725853  var(DLCE)         0.000188332

1-step (ex post) forecast analysis 1989 (1) to 1990 (4)

Parameter constancy forecast tests:

Forecast  Chi^2(8) =   14.009 [0.0815]  

Chow      F(8,67)  =   1.5417 [0.1597]  

Results saved to C:\Winword\Econometrics\PcGive exercises\ResultsEx3

